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#include <stdio.h>

#include <iostream>

#define mid ((l+r)>>1)

using namespace std;
int rt , T

int cnt;

int build(int 1,int r

int root=++cnt;
-l_==

scanf("%d",&T [ root]);
root;

Ll root!=build(1l,mid);
Riroot|=build(mid+1,r);
root;

int update(int pre,int 1,int r,int x,int c

int root=++cnt;
l==r

Tlroot|=c;
root;

—

root|=L[pre/;
Rl root|=R[prel;
X<=mid

L/ root|=update(L|[pre!,l,mid,x,c);

Rlroot|=update(R/prel,mid+1,r,x,c);

root;

CVBB ACM Team - https://wiki.cvbbacm.com/


https://www.luogu.com.cn/problem/P3919
https://www.luogu.com.cn/problem/P3919

Last

;ggg}gs 13 2020'2052ID:tSaDm;'SgDa'—s"'”g: https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string: %E5%8F%AF%E6%BC%B1%EA%BI%E5%ES%ECUI6%ET%BA%BFIE6%AE%BS%EE%A0%I1

17:49

void query(int pre,int 1,int r,int x
-L::

printf("sd\n",T[prel);

’

X<=mid
query(Liprel,1,mid, x);

query(R[prel,mid+1,r,x);

int main
cnt=0;
int n,m;
scanf("%d%d",&n,&m) ;
build(1,n);
int v,cd,x,y;
rt =1;

int i=1;i<=m;i++

scanf ("sd",&y);
rt/i/=update(rt(v!,1l,n,X,y);

rtiil=rtivl];
query(rtivl,1,n,x);
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